g o AT Y 1 YO =W A28
H%-ﬂﬂﬁﬂ'ﬂﬂiﬂﬂﬂﬂa 4 Hiaaa
o= U246 H 3 : (0331) 229 - 57
1.2 9
1 #% 2 743

O A7 = WAy sk =/ s AL AHEFL 9d WA
93%= ofd oE i Fho] AHHHR, HExFHo| Hel
Fitso]l 37t £57d4 € 9898 vA2 8ls

Ol AE Hag 43 7HY 200640 W/hao B2 AR EZ fleolE w7
W] stgaie] AL

2. A {43 ('98)
O oul #e g ek Bz Ajulg W@
100
ld} s
% 3:]]- Eiﬂ}ﬂ'ﬂfhﬂ E‘.T
3 & | 86535 /ha |
g wEgt dut bzt

« o] FEWFoHEE 109 08 s AE) ek o8

O gk ok dajo g R DR (4] : 3 $/ha)
= M 3 4 #H #H & (%)
o 5 10 15 20 5

| 2l o & 5= 2 (ka) 1350 | 2700 4,050 5.400 6,700
o Heied (A) 2070 5,149 7723 | 10,208 12872
Ay 2 v|(B) 845 845 B45 | - B4S B45

A - B 1730 | 4304 6,878 9363 12.027
» a2 7% ¢ 2700kg, kg &7 - 19074 34E.
3. 7] &=

O M7he] gl Bxd HIAZ o) ERAHE FH T, FH YL
AN FHog FAS T
4.3 8

O gyt Wz dae o 2F o AGSR 7hd 24908 94
Ao me} haBl730~12027H e Hoa AFANE 7S

= H}=




n. M5As 3x
1. 47| =Fus] Ad

A | g A
SRS b o] # & ] & =
(ha) | (M/T) m?ﬁ (96) (31%)
L 3318 58,401 54313 9.4 12671223
JatE ;97 A - 7Y AHZAHAEYD)
2,27 HAddy 884
23] = F(wAE| H5 :
*‘?’5:;% 106 | 170 | 91 286 | 26 |39 | 68 | 214
JAR 1 '9a Ao FFAZAHACIEY)
3 g Av§ (9l ¥/ha)
F & TS
P L] L't = 9% o gt 'E = 9
O & = 6MIAY10d = 603100 [O % = % : 400,000
wEREA O gz q; 315649 + 54 = 631,200
A 7 v |0 2498 105449+ 53 = 21000
A 2 1,255.300 Al : 400,000
O & = 400035 =100 = 490000 (O =h4 =d] @ 210,000
() =d A4 @ 3,150,000
of A ¥ (DS FOMY+ 54 = 0000 |O A Au] : 200000
(O Ay ¢ 611000
A 4.321,000 A : 410.000
O FxE39#FY) : 283060 O £ ¢ 25,000
7] B} (O w4 R3] 2830500 (O of o 51 15000
A : 3113550 # ¢ 35000
AT 8,689,850 A45,000
Ay & 23,564,000 845,000

J bt E M o] AiMiAARIEEs Sl AARNET S ha).

} 7

B} 9 vaus Sk o (e, Srlrkal10ea).

Ad 73 %9 gz 9 ASH00d), BE2W0EdE) HEE

=




